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QUESTION 1

To access a share from a CIFs client, what parameters are contained in the UNC? 

A. Junction path name for the volume 

B. Aggregate name for the volume 

C. SVM root volume 

D. Absolute path of the volume 

Correct Answer: D 

 

QUESTION 2

How is a FlexClone volume different than a snapshot? 

A. A FlexClone volume is the same as a snapshot until you split the FlexClone to remove all restrictions on the parent. 

B. A FlexClone volume is a copy of all data blocks in a volume while a snapshot only references data blocks. 

C. A Flexclone volume is a writeable copy of a patent volume while a snapshot is read-only. 

D. A FlexClone volume is a separate copy of all data blocks within a parent volume that lives outs.de of the volumes
while the snapshot lives within the volume. 

Correct Answer: B 

 

QUESTION 3

What is the main purpose of fractional reserve in SAN Environments? 

A. To thin provision volumes in an aggregate 

B. To reserve space for data overwrites after taking a snapshot 

C. To create non-space reserved LUN in a volume 

D. It is a command line utility for space management. 

Correct Answer: B 

 

QUESTION 4

What is the function of initiator groups? 

A. Initiator groups mask LUNs to a set of initiators. 
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B. Initiator groups control which initiators can connect to the storage controller. 

C. Initiator groups limit the target ports through which a LUN can be accessed. 

D. Initiator groups manage initiators of the same host type. 

Correct Answer: A 

 

QUESTION 5

Which two are benefits of storage virtualization? (Choose two) 

A. Storage virtualization the server cost 

B. Storage virtualization lower the TCO (operational and management cost) 

C. Storage virtualization allows multiple operating systems and applications to run on a single system 

D. Storage virtualization can allow storage resources to be logically pooled managed 

Correct Answer: BC 

 

QUESTION 6

Which two commands can be used to enable LUN reservations? (Choose two.) 

A. lun create 

B. fcp -r  

C. lun set reservation 

D. iscsi -r  

Correct Answer: AC 

 

QUESTION 7

You use junctions to join volumes to what? 

A. UNIX clients 

B. A namespace 

C. A Storage Virtual Machine (SVM) 

D. CIFS clients 

Correct Answer: B 
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QUESTION 8

Which three can coexist on a NetApp storage system? (Choose three.) 

A. Domain Controller 

B. NFS 

C. CIFS 

D. DFS 

E. FCP 

Correct Answer: BCE 

 

QUESTION 9

Clustered Data ONTAP supports ALUA with which protocols? 

A. FC and FCoE only 

B. FC only 

C. FC, FCoE, and iSCSI only 

D. FC, FCoE, iSCSI, and NFS only 

Correct Answer: C 

 

QUESTION 10

In Data ONTAP, both the Microsoft Windows Administrator and root are exempt from user and group quotas, but not
from tree quotas. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 11

Which command will show the FCP target(s) on a storage system? 

A. lun show -v 

B. fcp show adapter 

C. fcp show all 
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D. lun stats 

Correct Answer: B 

 

QUESTION 12

What are three characteristics of a logical interface (UF)? 

A. A UF can be associated with an interface group. 

B. A UF can be associated with an IP address. 

C. A UF can be associated with an Ethernet MAC address. 

D. A UF can be associated with the speed, duplex and flow control settings. 

E. A UF can be associated with a WWPN. 

Correct Answer: ABC 

 

QUESTION 13

If an aggregate contains multiple RAID DP groups, three disks in the same aggregate and ___________ it can fall
without data loss. 

A. Is not currently being accessed 

B. Is in different file systems 

C. Is in different RAID groups 

D. Is in different spare pools 

Correct Answer: C 

 

QUESTION 14

You are having problems accessing three recently-created LUNs. Given the output below, the reason is because all of
the LUNs are using the same LUN ID of 0. 

lun show -m LUN path Mapped to LUN ID -------------- ------------------ ------------------- /vol/vol1/lun0 solaris-igroup 0 0
/vol/vol1/lun1 windows-igroup 0 /vol/vol1/qtree1/lun2 aix-igroup 0 /vol/vol1/qtree1/lun3 linux-igroup 0 

A. True 

B. False 

Correct Answer: B 
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QUESTION 15

NTFS allows file access based on ___________. 

A. NT ACLs and UNIX permissions. 

B. SID and password. 

C. NT ACLs and SID. 

D. UNIX permissions. 

Correct Answer: C 
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